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Y. In each of the following cases, a balanced positive-sequence 3-phase source
N supplies a balanced 3-phase load. For all phasor calculations, assume that V,,, is
(\}) the "reference.” (The angle of V,, is 0°)
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For each case, first draw the power triangle for the load, labeling P,Q,S, and 6.

a) Vi, = 34.5 kV RMS. The load consumes 165 kW at a PF of 0.75 LEAD.
Calculate the phasor values of I, and I, flowing into the load.
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b) Vi = 69 kV RMS. The load consumes 300 MVA at a PF of 0.8 LAG. Calculate
the phasor value of I, flowing into the load.
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c) VL = 480 V RMS. The load generates 58 kVAR. The PF is known to be 0.6, but
1) . it was not noted whether it is LEAD or LAG. Calcua_ e phasor value of I,
flowing into the load. Isthe PF LEAD or LAG? Explain.
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b) Lobel Ub.n A dhe load, Whet 13 e phasw— volue?
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